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Problem quickname: 4290

b

Cross out all the numbers that are not divisible without a remainder by. . .. -
a) ...byd: M 73 W0 27 35 4 M 13
b) ..by 7:68 23 85 M 58 86 17 44
¢)...by3:81 ¥7 24 20 94 95 25 77
2)
Cross ont all the mumbers that are not divisible without a remainder by. ... -
a) ...by2:4 92 63 84 35 25 96 26
b) ...by7:25 88 75 49 48 85 36 51
c)...by9: 17 65 15 22 40 56 60 47
d) ...by5: 18 13 10 39 48 56 8 97
e) ...by 10:93 54 92 58 67 37 72 33
fy ...by3:4 ¥ 98 53 7 96 93 95

4290
Cross out all the numbers that are not divisible without a remainder by. . ..

) .. by3:6 29 17 12 9
) by 0:18 M 9 15 16
¢) ...by8:18 ¥ 24 25 9
)
)
)

a
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o

by6:24 % 12 27 24
by5:210 M 10 20 25
byd:3 23 B 19 29
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Solutions to smp-4290-2/SATB

4
7> Quick:
4290

Cross out all the numbers that are not divisible without a remainder by. ...

a) ...by 14:50 140 22T 381 80 462 350
b) ...by 18 : 47 90 61 423 432 126 196
¢) ...by 17:307 130 102 327 391 441 357
d) ...by 11:183 487 69 389 25 235 156
e) ...by 19:333 380 147 247 249 379 407
f) ...by 15:90 185 23 267 315 490 314
Good Luck!
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